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Problem 

231
by Benjamin Bloch, Ph.D.

Problem 

232
by David Lindell, LS

This is a problem known to be difficult. 

Triangle ACB is isosceles. Angle CAE = 
10 degrees, angle EAB = 70 degrees, 
angle CBD = 20 degrees, and angle 
DBA = 60 degrees. 

Without drawing any additional lines, 
solve for angle x.
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PROBLEM NO. 232

What are the radii of the three circles?
(Each passing through a vertex and
tangent to the other two.)

What are the radii of the three circles 
(each passing through a vertex and 
tangent to the other two)?
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